A Al(negative income tax), "= EITC(earned

o 25

[e]

’

T 7| A SR A =

il
wal
VvV
Tor
%0

(o]
a

] HI2XIAl

oo™

I!AHUHI-III

=

S

n|

3

X
o

20083 Al

-

Zo

) #0.#
Co

olo

(& 15%)

income tax credit)$} FAFeE SRAHAA L AT} o] AR

i

!

X
o}
_50

—_—

A

l

)

o

s

=
=

F= SR AA

5]

= A2

]

i

Al

mh
—

- -
ol
e

<0

2719 w2t AR A9

=

a5

A Al (negative income tax)2] T

=

Es=

9/]
Ao v o] AAA Ze] Aol H &

AxE LEA9

[e]

=

2)
3)

@)

-,

2

(% 20%)

(% 15%)

Aol Ast Bel AAA] 503

. ol

SRER
h—rL

5

=

=

o

@)

W
ZA a8t ts

5

H

o}

1
1

o]
3}

1
1

60, My = 400]3L AFAA 9] 1AL

o A48 A e

o o
=4

o]

=

SHA L. (671)

al

S

My
SEREE

shtel AHFAE

S

=
o] F0J 4]
o
i S

=

CX
o &

e
pi /\]_Xj] XH ‘/F‘%]:, XvAﬂ’ zYB

1

z}

Ee e A

(10%)
S o

A

o AAYFE vielaor Y. o

A gt AR FYE T

MU,

e}
.

|
A
S3AY T,

5}

stol 4
47

51

oF
o= oy 7HA

3
AP0 2G4+ X = 10003, F AH|AF A% B9

]
EEREIES
5]
Up = GXpeal 7143
e
o)
(%’ MRSGX
(64)

K
)

Al 2

R
)

od*
.__A.oo




